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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) udienefi @auem U= 999 U= W AW SAHaEa: o |

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) |t I T A AEE ¢ |

All the questions are compulsory.
3) Yk U¥H T I & T I-Yferent | & ford |

Write the answer to each question in the given answer-book only.
4) @ vl ° e @Ug €, 39 At & W U |y ¢ o

For questions having more than one part, the answers to those parts
are to be written together in continuity.
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5)

6)

7)

8)

9)

2
v U & R @ it T @ foedt wenw i gfe / e / fedienym @9 R = wmen
% 99 & TG T

If there is any error / difference / contradiction in Hindi & English versions of

the question paper, the question of Hindi version should be treated valid.
T T IW @ | gd T3 1 HATR 1avd forl|

Write down the serial number of the question before attempting it.

U9 HIeR 21 | 23 ek § itk forehed &

There are internal choices in Question Nos. 21 to 23.

U IT-GTETRT & TSI o GHT IR fARan| afg g I HE HE g, A STW-YIEIht &
aifem gst W iR 3% fovst oimet | Fea A W T % e forw 3|
Write on both sides of the pages of your answer-book. If any rough work

is to be done, do it on last pages of the answer-book and cross with slant

lines and write ‘Rough Work’ on them.
U9 HATeR 21 1 SREntE TE U0 W SA150)
Draw the graph of Question No. 21 on graph paper.
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GvuE - A

SECTION - A
(aegfe wE efaegaters W)

(Objective and Very Short Answer Type Questions)

1) 7 g a9l o SW S T8 foshed 9o X S giEre | faRan|

Answer the following questions and write them in the answer book by selecting the
correct option.

) 196 o SIHST UGS i TTAl FH ATEA 2 : [1]
) 1 ) I
|qa) 4 3) 6

The sum of the powers of the prime factors of 196 is

A) 1 B) 2
C) 4 D) 6
i) e foom wfeRor X2 — kx+4 =0 % 96 THE &, d@ K S A= grm - [1]
A =+l q9) 2
|) 13 g) *4

If roots of the quadratic equation x*> —kx+ 4 =0 are equal, then the value of

k will be -
A) =+l B) 2
C) +£3 D) 4
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iii) forg (3, 4) F y-ere @ g8 enft - [1]
) 1 ) I
|) 3 q) 4

The distance of the point (3, 4) from the y - axis will be -

A) 1 B) 2
C) 3 D) 4
iv) 3x+2y=11 ® oqE FQ A0 TEE - [1]
) (1,4) T (2,3)
| (3,5 3) (L,3)

The pair satisfying 3x+2y =11 is -

A (1,4 B) (2,3)
C) (3,5) D) (1,3)

v) Taam e 34352 + 10X ++/3 = 0 @ e gm [1]
H) 8 ) 30
|) 46 3) 64

Discriminant of quadratic equation 3./3x2 + 10x++/3 =0 willbe:

A) 8 B) 30

C) 46 D) 64
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vi) afr18,a b, 3uarR IGHB A a+ b = A g - [1]
) 7 T) 11
/) 15 g 19

If 18, a, b, -3 are in A.P., then the value of a+ b will be :

A) 7 B) 11
C) 15 D) 19
vii) 3sec45° cos45° @ HE ghm - [1]
) 0 T 1
|qa) 2 g) 3

Value of 3sec45° cos45° will be :

A 0 B) 1

C) 2 D) 3
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vili) @ i a8 Siten Rraeht ovars g i B & S 8, wEerd § - [1]
a)  Proaavg ¥) =M
|) & 7) ity

A chord of a circle, whose length is twice the radius of the circle, is called :

A) Sector B) Diameter
C) Area D) Circumference

ix) o R e 3.5 AR 2, A g o R dnd 1]
a) 113 a) 223
@) 333 3) 44 a0

Radius of a circle 1s 3.5 cm. Find its circumference.

A) 1lcm B) 22cm
C) 33cm D) 44 cm
X) O S TEUl USH SEher 486 T Bt @, I <ht YT T W9 gRM — [1]
;) 6aH ;) 7a
|w) 8w 3) 9w
The total surface area of a cube is 486 cm?. Measure of side of the cube will
be -
A) 6cm B) 7cm
C) 8cm D) 9cm
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xi) @e3,5,7,4,2,1,4,3 R4 % agA® g - [1]
) 1 | 3
|) 4 3) 7

The mode of the distribution 3, 5,7, 4,2, 1, 4,3 and 4 1s -

A) 1 B) 3
C) 4 D) 7
Xii) Ueh UT® ohl Thehd T 4 A ST 37k T i TIehdl A hifem) [1]
1 1
H) 5 ) 3
q) E ) 1
1 7

In a throw of a die, determine the probability of getting a number more than 4 :

1
A)E B) g

C) D) 1

3
4

2) TrefoRem gt @ fws w2t <t gid Sed ge SRRt | fafau)

Fill in the blanks in the following questions and write them in the answerbook.

i) 95 @ 152 = wgww gHmEnes (HCF) H [1]
Highest Common Factor (HCF) of 95 and 152 is :
i) TR EmwRga Tt W@ Wi S Akt 2| [1]

tangent can be drawn from a point on the circle.
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3)

cos® 45° &1 AH 2 [1]

The value of cos?45° is

T AUT I T T T IHAS foreg i ed 2 [1]

The common point of the circle and its tangent line is called

v) a5, 7,9, X & aurR ’ied 9 g, @t Xt grm| [1]
If Arithmetic mean of a distribution 5, 7, 9, X 1s 9, then value of X will
be

vi) & UTEl Rl Uk |1 Thehel X 37ehi SR TN 7 3T <hl TTfrehdt gl [1]
In a single throw of two dice, probability of getting a total of 7 will
be

Afel YIS T

Very short answer type questions.

i)

k & form 7 W wdteRtor gm 3X— 2y =0 a2 kKx+ 5y =0 & 3@ g gl ? [1]

For which value of K, linear pair 3Xx—2y =0 and kx+ 5y =0 will have Infinite

Solutions?

faama @feor ax® + bx +c =0 % ¥ 7 & w1 e gx fafag) [1]
Write the Sridharacharya formula to find roots of quadratic equation
ax’ +bx+c=0-

ferelt TR 91t (ALP.) &1 9o ug “a” ud |reeR “d ” g1, a dieren ug @ grm [ 1]

What will be the Fifth term of a Arithmetic Progression (A.P.) whose First
term is “@” and common difference is “d ”?
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iv) EHEY 3Th{cal i Ui Hif| [1]

Define similar figures.

2tan30°
V) T @n?30°

1 HH A R [1]

2tan30°

Find the value of m.

Vi) f1—cos’@ T HFA @ =60° W @ HifTw| [1]

Find the value of /1 — cos2 @ at 8 =60°.

vi)) 10 wiex S=t HiMR & frer @ 9ot w v fog i s wior 30° 31 fag B R &
IR | g feae Bl ? [1]

From the top of 10 meter high tower, angle of depression at a point on earth is
30°. What will be the distance of point from the base of tower?

vill) T IR B hi S AUT 3HeR! BT hl THATg 1 STAWE |:./3 &, @ g& o 372
VT A i) [1]

If ratio of length of a vertical rod and length of its shadow is 1:4/3, then find

the angle of elevation of Sun.

ix) 3 o Bremn e ueh g aEd qen g O @ 5 At o fora fag P & o ot < v Wl
it sk et 7 ferRau [1]

Draw a circle with centre O and radius 3 cm and draw two tangents to the
circle from a point P which is 5 cm away from its centre and write the
measurement of them.
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X) 5 Ot e usk Waravg AB Wit ta 3@ 2 : 3 o srqur | fawfa i) gat aw @
g feaRau) [1]

Draw a line segment AB of length 5 cm and divide it into the ratio 2 : 3. Write
the measurement of both the parts.

xi) forelt o o Proavg 3w 9w @ @iy §, @ Beaeg § g W e et it @ A
I A ? [1]

If the sector of a circle is a quadrant of that circle, then what will be the
measure of the angle formed by the sector on centre?

Xil) TS THR | Wl T3 52 Ui <hl Ueh TS W | Teh U HehTen ST 21 39 U o gge g
&1 wiRrerar {a Hifm) [1]

A card is drawn from a well shuffled deck of 52 cards. Find the probability of
it being a ten.

e - 9
SECTION - B
) 13
4) wﬁﬁamawmmml [2]
. : . : 13
Write down the decimal expansion of the rational number 5
5) ®gUE X* —X—6 % Y& T il [2]

Find the zeroes of the polynomial x* — x—6.
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6)

7

8)

9)

10)

11

foama wfieReor 4% —12x—9 =0 % Tt H THA w1 A TS| [2]

Find out the nature of roots of the quadratic equation 4x*> —12x—-9=0.

famaii (0, 0) iR (5, -3) T e et Yravg ¥ wen g v @ AR [2]

Find the co-ordinates of the mid point of the line segment joining the points (0, 0)
and (5, -3).

Teh TUAA T TR @E HAR 6 o 54 feafa @ 40 ier sttt wht 8 At @ wafes g2 o
I AT 60° B T 30° N T gl HHAR i F=E 7 i) [2]

The shadow of a tower on a level ground is increased by 40 meter, when the
altitude of the Sun changes from 60° to 30°. Find the height of the tower.

6 |t YT o AT AT Tk FHATEEH hi T HieTe 3R TR vk 377 FBiygs it W Fifsg,

. . c o 2 .
Forereht sgmd fau g Frgst 1 W sysmat B < TR [2]
Construct an equilateral triangle whose measurement of side is 6 cm and then

construct another triangle whose sides are 3 times the corresponding sides of the

given equilateral triangle.

4 ot e & U g9 W UE g1 WYt W@ St S U g % SHl gl [2]

Draw a pair of tangents to a circle of radius 4 cm, which are parallel to each other.
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11) =t gt wrEd BT & St sRIER g, it fg it o6 3 Brys saimem g 82 [2]

If the area of the two similar triangles are equal, prove that they are congruent?

12) ue g ht Breen 7 Ot @ 9 Uk WY gRT theg W 3TANa vt 60° 31 38 g @ aawa
T i [2]

Radius of a circle is 7 cm and the angle subtended at the centre by an arc is 60°.
Find the area of this sector.

13) U Vi o fis=Ten i forier Semg 4wt B den 3ok e Rl o uftmm (ufifemt) 18 et siv
6 |t 1 38 fs=reh o ok Ui ke T il [2]
The slant height of a frustum of a cone is 4 cm and the perimeters (circumference)

of its circular ends are 18 cm and 6 cm. Find the curved surface area of the
frustum.

14) 2 uai, i @ g &1 A 64 T 2, & Hole Tetehl bl {eTTeRt Uk 318 ST ST 21
aRumH T T I et W RifTg) [2]

Two cubes each of volume 64 cm?® are joined end to end. Find the surface area of
the resulting cuboid.

15) = SRR s i 7iga 7 Hifm) [2]

X [ 1|2 3 4 5 6

f 2] 4 5 4 2 2

Find the mean of the following frequency distribution.

X [ 1|2 3 4 5 6

f 124 5 4 2 2
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16) uw fesa @ § ot &, 5 Hthe Sl 3R 2 R B 39 foat ® | Uk e Argesan fHenren S
2| zEeht = WiRtreRan 2 fom fremtem T hen [2]

(i) e @? (i) T TE2e

A box contains 8 red marbles, 5 white marbles and 2 green marbles. One marble is
taken out of the box at random. What is the probability that the marble taken out is :

(1) red? (1) not green?
G us - 9
SECTION - C
17) & wem 40 ¢FTeHeh JUTieh w1 NT TG Shifete St 6 | fawra ) [3]

Find the sum of the first 40 Positive Integers divisible by 6.

18) 3@ fryw =1 gawe T A fes s (2, 3), (—1, 0) aem (2, —4) 2 [3]
Find the area of triangle whose vertices are (2, 3), (-1, 0) and (2, —4).

19) U N o B & Uik = e | QU T 1 3R Highe [ ehifeg| [3]
TATeh 0-10| 10-20 | 20-30 | 30-40 | 40-50
B B T 4 28 42 20 6

The marks of students of a class are given in following frequency distribution.
Find their median.

Marks Obtained [0-10 | 10-20 [ 20-30 | 30-40 | 40-50

No. of Students | 4 28 42 20 6
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20) &5 O o ga W amg forg T & g wuet T@md TP aen TQ wii=ht 73 2| g hifswe for

ZPTQ=2-0PQ 2l [3]
Two tangents TP and TQ are drawn to a circle with centre O from an external
point T. Prove that Z/PTQ=220PQ.

©Us - §
SECTION - D

21) = e wriieron gm i s ot grn ge A [4]

X+y=14

X-y=4
Solve the following pair of linear equations graphically :

X+y=14

X-y=4

Fgar/OR

Tk heft o 10 ferenferai A nifvra <k ueedt ufaanfian | v foren) afe ot H o ==t 6t
T @ 2 aaferen g1, 3a feufa o diemfvrdia va ard oo i) [4]

10 students of a class took part in a mathematics quiz. If the number of girls is 2
more than the number of boys, represent the situation algebraically and graphically.

22) fag i fF : [4]

\ /ﬂ =cosecA—cotA
1+ cosA

Prove that :

\ /ﬂ =cosecA—cotA
1+ cosA

3tat/OR
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fog fikm s : [4]
(sin A+ cosecA)2 + (cos A+ sec A)2 =7+ tan® A+ cot> A

Prove that :

(sinA+ cosecA)2 +(cos A+ sec A)2 =7 +tan> A+ cot’ A

23) T ARl Fe 1 qgeTh F1d It : [4]
o 10-25 25-40 40-55(55-70 | 70-85 | 85-100
IRERAT 6 20 44 26 3 |

Find the mode of the following frequency distribution :

Class 10-25 25-40 | 40-55|55-70 | 70-85 | 85-100
Frequency | 6 20 44 26 3 1
Fgar/OR

=1 arERaT sea i wiea 7 ik [4]
=t 0-20 | 20-40 [40-60 | 60-80 [80-100
ERAT 6 10 13 7 4

Find the mean of the following frequency distribution :
Class 0-20 | 20-40 [40-60 | 60-80 [80-100
Frequency | 6 10 13 7 4

> > >
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